S3 Table. Knockout results for all transitions when transitions
ti12, t1s and MCT-set ms have been disabled

Transition | Transition status Reference set Knockout set Difference
to OFFLINE (MCT2) 14.98% 0.00% disabled
t1 OFFLINE (MCT2) 12.62% 0.00% disabled
to OFFLINE (MCT2) 12.62% 0.00% disabled
ts OFFLINE (MCT2) 50.00% 0.00% disabled
ta OFFLINE (MCT2) 12.62% 0.00% disabled
ts OFFLINE (MCT2) 12.48% 0.00% disabled
te KNOCKOUT 2.35% 0.00% disabled
tr OFFLINE (MCT2) 14.99% 0.00% disabled
ts ACTIVE 34.71% 41.40% 6.69%

tg ACTIVE 21.24% 24.78% 3.55%
tio ACTIVE 34.69% 41.37% 6.67%
t11 ACTIVE 21.23% 24.78% 3.54%
ti2 OFFLINE 50.00% 0.00% disabled
ti3 KNOCKOUT 22.80% 0.00% disabled
t1q OFFLINE (MCT2) 50.01% 0.00% disabled
tis KNOCKOUT 13.46% 0.00% disabled
tis KNOCKOUT 7.49% 0.00% disabled
ti7 ACTIVE 49.99% 49.99% 0.00%
tis OFFLINE 16.39% 0.00% disabled
tio KNOCKOUT 4.20% 0.00% disabled
tao OFFLINE (MCT2) 50.01% 0.00% disabled
t21 KNOCKOUT 4.21% 0.00% disabled
too KNOCKOUT 4.20% 0.00% disabled
tas KNOCKOUT 4.20% 0.00% disabled
toq KNOCKOUT 4.20% 0.00% disabled
tos KNOCKOUT 4.09% 0.00% disabled
tos KNOCKOUT 22.81% 0.00% disabled
tor ACTIVE 13.48% 16.67% 3.19%
tos KNOCKOUT 4.07% 0.00% disabled
tag ACTIVE 16.42% 17.07% 0.65%
tso ACTIVE 12.19% 1.79% —10.40%
t31 ACTIVE 20.94% 7.63% —13.31%
tso ACTIVE 43.53% 44.11% 0.58%
tss ACTIVE 50.02% 50.03% 0.00%
tsa ACTIVE 27.37% 13.48% —13.89%
tss ACTIVE 50.00% 50.00% 0.00%
tse ACTIVE 12.35% 7.63% —4.72%
tsr ACTIVE 21.00% 7.65% —13.35%
tas ACTIVE 49.99% 49.99% 0.00%
tso ACTIVE 24.71% 24.71% 0.00%
tao ACTIVE 12.36% 17.07% 4.71%
ta1 ACTIVE 49.27% 49.27% —-0.01%
ta2 ACTIVE 49.99% 50.00% 0.01%
tas ACTIVE 50.00% 50.00% 0.00%
taa ACTIVE 8.28% 7.63% —0.65%
tas KNOCKOUT 4.20% 0.00% disabled
tas ACTIVE 49.43% 49.27% —0.16%
tar ACTIVE 49.04% 48.92% —-0.12%
tas ACTIVE 50.00% 50.01% 0.01%
tao ACTIVE 49.99% 50.00% 0.01%
ts0 OFFLINE (MCT2) 14.98% 0.00% disabled
ts1 KNOCKOUT 4.20% 0.00% disabled
ts52 KNOCKOUT 4.21% 0.00% disabled
ts3 KNOCKOUT 4.20% 0.00% disabled
ts54 ACTIVE 20.99% 7.65% —13.34%
tss KNOCKOUT 2.35% 0.00% disabled
tse KNOCKOUT 2.35% 0.00% disabled
tsr ACTIVE 20.99% 7.65% —13.34%
tss ACTIVE 50.01% 50.01% 0.00%
ts9 ACTIVE 24.71% 24.73% 0.02%




Transition | Transition status Reference set Knockout set Difference
teo ACTIVE 49.43% 49.45% 0.01%
te1 ACTIVE 50.00% 50.02% 0.02%
te2 ACTIVE 50.00% 50.00% 0.00%
tes ACTIVE 21.24% 24.79% 3.55%
tea ACTIVE 21.24% 24.78% 3.54%
tes ACTIVE 50.00% 50.01% 0.01%
tes ACTIVE 34.68% 41.34% 6.66%
ter ACTIVE 50.00% 50.02% 0.01%
tes OFFLINE (MCT2) 50.01% 0.00% disabled
teo ACTIVE 13.48% 16.67% 3.19%
t7o ACTIVE 13.48% 16.65% 3.16%
tr1 ACTIVE 50.00% 49.99% —-0.01%
t7o KNOCKOUT 2.35% 0.00% disabled
trs ACTIVE 50.00% 50.01% 0.00%




